D41 [
L1 o o ATTENTION!
N \ | NINJA 650/ Z 650 SPECIFIC
(99}
= & "V_T | ASSEMBLY DRAWING
I . A ® 35,1 Allen Screw M8X35
| 100 T %385 o P/N 200319
. S.S. Bushing 80 2x Washers
dB-Killer 59B P/N 206060 — = D24x28
P/N 3014228803 S.S.Flange sp.6mm P/N 200321
P/N 206061 "158A"
3x Flange Nuts M8
P/N 200298
S.S. Bracket Aluminium Spacer
P/N 0814379501 58, 5x320x10
Washer G8x® 17] P/N 200414 Aluminium Spacer
P/N 200294 Dx Aluminium Spacers Flange Nut M8 @8.5x@19.5x@25x15
28.5x219.5x325x%8 P/N 200298 P/N 207023
Allen Screw M8X40 P/N 204694 Lambda Gasket INCLUDED x S.S. Flange 158A
P/N 200993 17.85x12.3x1.5 P/N 206061
Allen Screw M8X45 P/N 204091
Muffler P/N 201450

2x S.S. bushing
P/N 206060

Lambda Plug INCLUDED
M12x1.25x9 INOX
P/N 205123 B e.35

S.S. Pipe LHS
P/N 308579201

OPTIONAL
P/N 5683

M12x1.25

P/N 3014229482V

bike's frame

/ Y\

l\ oo

B <7
P

o)
el
o

Q

Carbon clamp FM4§
P/N 307572505

Allen Screw M8X25
P/N 200314

S.S. Pipe 2/1
P/N 3014379201

Aluminium Spacer]

@27X8,5 P/N 3014379207
P/N 204321
Welded dB-Killer N°71
P/N 3014349801 P/N 303949001
S.S.Pipe RHS
ART.14380ENU N 208579202

KAWASAKI Z 650 / Z 650 RS / NINJA 650 / VERSYS 650
(Also fits 35kW version) (Fits with original panniers)

FULL SYSTEM - LV ONE EVO - CARBON



	DT-14380EN
	Vista del disegno131
	Vista del disegno132
	Vista del disegno133
	Vista del disegno134
	Vista del disegno135


